**TOTAL COSTS: \$312.20** 

Canada Post / Postes Canada COLLEGE SPADINA PO 105 - 340 COLLEGE ST TORONTO, ON M5T1SO GST/TPS#: 762716280

2021/05/26

02:46:37

star

CC/CC105456

W/G1

TR548724

ONH 13%

5@\$9.20 \$46.00 P2020 BOOKLET OF 10/P2020 CARNET DE 10

ONH 13%

4@\$7.80

\$31,20

\$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

ONH 13%

4@\$11.64

\$46,56

\$1.94 BOOKLET-0/S/1,94 \$ CARNET-SURD

SUBTL/SOUS-TOTAL HST/TVH TOTAL/TOTAL

\$123.76 \$16,09

CDN Cash / Espèces CAN

\$139.85

CHG. DUE / MONNAIE

\$200.00 (\$60.15)

RND. CHG. / MONNAIE ARRONDIE

(\$60.15)

Order Details CAT. ENV. UNIT PRICE TOTAL \$26.49

THREE CENT COPY CENTRE 732 SPADINA AVE TORONTO ONT M5S 2J2 TL 416 923 0542

### 878538446R70001

REG 05-28-2021 13:52 083850

0 04 X 1 2400 \$96 00 C/PRINT-B/W 0 10 300 \$30 00 FOLD&STAPLER

\$126 00 \$16 38 HST 13%

\$142 38 TL \$0 02 ROUND \$142 40 CASH

**TOTAL COSTS: \$335.40** 

Canada Post / Postes Canada COLLEGE SPADINA PO 105 - 340 COLLEGE ST TORONTO, ON M5T1SO GST/TPS#: 762716280

2021/08/25 CC/CC105456

02:26:07 W/G1

star TR560308

ONH 13%

4@\$7.80

\$31.20 \$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

4@\$11.64

\$46.56

\$1.94 BOOKLET-0/S/1,94 \$ CARNET-SURD

4@\$9.20

P2020 BOOKLET OF 10/P2020 CARNET DE 10

SUBTL/SOUS-TOTAL

\$114.56

HST/TVH

\$14.89

TOTAL/TOTAL POSTAGE

\$129,45

CDN Cash / Espèces CAN

\$140.00

CHG. DUE / MONNAIE

(\$10.55)

RND. CHG. / MONNAIE ARRONDIE

(\$10.55)

# \$26.25 To

### STAPLES Canada Store # 25 Toronto, ON M5G2J5 (416) 598-4818 00094 4 004 73436 0025 08/25/21 01:58 1593956 BOOKLET ENVELOPES 718103041775 32.99 Subtota1 4.29 HST 13.00% \$37.28 Cash Cash Change 62.72 Thank you for shopping at STAPLES! \*\*\*\*\*\*\*\*\*\*\*\*\*\* Share your feedback for a chance to win a \$1,000 Staples Gift Card! Text STAPLES25 to 20200 OR Visit -tonles ca/survey/25

\*14 - FALL 2025

HREE CENT COPY CENTRE 732 SPADINA AVE TORONTO ONT M5S 2J2 TL 416 923 0542

878538446R70001

REG 08-25-2021 14:05 085952

X1 0 04 2400 C/PRINT-B/W T \$96 00 0 10 X 1 FOLD&STAPLER T \$30 00

\$126 00 13% \$16 38 HST

\$142 38 \$0 02 ROUND \$142 40 CASH

**TOTAL COSTS: \$360.40** 

Canada Post / Postes Canada COLLEGE SPADINA PO 105 - 340 COLLEGE ST TORONTO, ON M5T1SO GST/TPS#: 762716280

## WPN # 15 - WINTER 2021-22

2021/11/23 02:16:19 star CC/CC105456 W/G1 TR571582 ONH 13% 5@\$9.20 \$46.00

BSM BKLT OF 10/BSM CARN DE 10

ONH 13% 5@\$11.64 \$58.20 \$1.94 BOOKLET-O/S/1,94 \$ CARNET-SURD

ONH 13% 5@\$7.80 \$39.00 \$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

 SUBTL/SOUS-TOTAL
 \$143.20

 HST/TVH
 \$18.62

 TOTAL/TOTAL
 POSTAGE
 \$161.82

CDN Cash / Espèces CAN \$200.00 CHG. DUE / MONNAIE (\$38.18) RND. CHG. / MONNAIE ARRONDIE (\$38.20)

Receint require

11 returns

# \$16.25 eTRANSFER TO COVER ARTIST

# WPN \$25-WINTER 2021-22

STAPLES Canada Store # 25 Toronto, ON M5G2J5 (416) 598-4818

Sale

00092 2 002 30306 0025 11/22/21 03:03

9999999

1 OB QS 5-7/8x9-5/8 10 718103140850

Subtotal
HST 13.00%

Total Cash. ENV.

Cash Change

10.07

26.49H

26.49

3.44

\$29.93

40.00

Thank you for shopping at STAPLES! \*

Share your feedback for a chance to win a \$1,000 Staples Gift Card!

Text STAPLES25 to 20200 OR Visit staples.ca/survey/25

Std msg & data rates may apply.

For contest rules or contact info go to help.staples.ca.

\*\*\*\*\*\*\*\*

\*\*\*\*\*\*\*

### WPN 25-WINTER 2021-22

THREE CENT COPY CENTRE 732 SPADINA AVE TORONTO ONT M5S 2J2 TL 416 923 0542

878538446R70001

REG 11-23-2021 15:19 089622

2400 X1 0 04 C/PRINT-B/W T \$96 00 300 X1 0 10 FOLD&STAPLER T \$30 00

> TA \$126 00 HST 13% \$16 38

TL **\$142** 38 ROUND \$0 02 CASH \$150 00 CG \$7 60 WATER 2021-22

PRINTING, EXIV

Canada Post / Postes Canada COLLEGE SPADINA PO 105 - 340 COLLEGE ST TORONTO, ON M5T1SO CSI/IPS#: 762716280

WPN - #26

2022/02/15 02:21:27 star CC/CC105456 W/G1 TR583426

ONH 13% 5@\$9.20 \$46.00 P2020 BOOKLET OF 10/P2020 CARNET DE 10

ONH 13% 5@\$7.80 \$39.00 \$1.30 BOOKLET-USA/1,30 \$ CARNET-É.-U.

ONH 13% 5@\$11.64 \$58.20 \$1.94 BOOKLET-O/S/1,94 \$ CARNET-SURD

 SUBTL/SOUS-TOTAL
 \$143.20

 HST/TVH
 \$18.62

 TOTAL/TOTAL
 \$161.82

CDN Cash / Espèces CAN \$202.00 CHG, DUE / MONNAIE (\$40.18) RND. CHG. / MONNAIE ARRONDIE (\$40.20)

D : 1 : 16

roturn

\$26,25 eTRANSFER To COVER ARTIST

STAPLES Canada Store # 25 Toronto, ON M5G2J5 (416) 598-4818 Sale 00092 2 002 47723 0025 02/16/22 03:05 1762915 OB QS 5-7/8x9-5/8 10 718103140850 26.49H Subtotal 26.49 HST 13.00% 3.44 \$29.93 40.00 Cash Cash Change Thank you for shopping at STAPLES! \*\*\*\*\*\*\*\*\*\*\*\* Share your feedback for a chance to win a \$1,000 Staples Gift Card! Text STAPLES25 to 20200 'survey/25

WPN - SPRING # 16
THREE CENT COPY CENTRE

THREE CENT COPY CENTRI 732 SPADINA AVE TORONTO ONT M5S 2J2 TL 416 923 0542

878538446R70001

REG 02-23-2022 15:06 092868

2400 X1 0 04 C/PRINT-B/W T \$96 00 300 X1 0 10 FOLD&STAPLER T \$30 00

> TA \$126 00 HST 13% \$16 38

TL \$142 38

ROUND \$0 02

CASH \$145 00

CG \$2 60

SPRING 2022

PRINTING, ENV